
 

 
Directions Q.1 to Q.4: ​The questions below have a sentence with two blanks. Given below each 
options are five pairs of words. Choose the pair that complete the sentences. 
 
Q.1.​ The genocide in Bosnia and Rwanda apart from being understatadly described in the most sinister 
and _________ manner as ‘ethnic cleansing’ were also blamed, in typical evasiv and denial filled 
rhetoric, on something dark and interior to_________ and perpetrators alike. 

 
1. Evasive, assaulters 
2. Enchanting, leaders 
3. Disingenuous, victims 
4. Tragic, sufferers 
5. Exigent; sufferers 

 
Q.2.​ As navigators, calendar markers, and other________ of the night sky formulated evidence to the 
contrary, ancient astronomers were forced to_________ that certain bodies might move in circles about 
the earth. 
 

1. Scrutinisers, believe 
2. Observers, agree 
3. Scientists, specify 
4. Observers, concede 
5. Astronomers, conclude 

 
Q.3 ​Every human being, after the first few days of his life, is a product of two important factors: on the 
one hand, there is his_______ endowment; on the other hand there is the factor of environment, that 
includes_______. 
 

1. Congenital, education 
2. Personal, climate 
3. Characteristic, geography 
4. Genetic, pedagogy 
5. Economic, learning 

 
Q.4 ​Depletion of natural resources, destruction of initiatives by individual governments, control over 
men’s mind by central________ of the education and falsehood are some of the major evils which 
appear to be on the increase as a result of the impact of science upon minds suited by_______ to an 
earlier kind of world. 
 

1. Tenets, fixation 
2. Aspects, inhibitions 
3. Organs, tradition 

 

 



 

 
4. Department, repulsion 
5. Criteria, agenda 

 
Directions Q.5 to Q.9: ​Read each sentence to find any grammatical error(s). If there are any it will be 
one part of the sentences. Mark that part as your answer. If the sentence is correct mark the option 5 
(No error) as your answer. (Ignore any punctuation errors as such). 
 
Q.5 ​Generally growth is calculated (1)/ in real terms to do (2)/ away with the effect of (3)/ inflation of the 
price of goods (4)/ No error (5) 
 
Q.6 ​Kavita’s pets Kitty and Tommy (1)/ are very loving and loyal (2)/ but I am sure (3)/ I like Kitty more. 
(4)/ No error (5) 
 
Q.7 ​Though their family had been (1)/ living at Trebizond, which is very (2)/ near to our village, none of 
(3)/ them had ever visited us. 4/ No error (5) 
 
Q.8 ​ Police officials had been (1)/ ordeMaroon to take strict (2)/ actions against the offenders (3)/ quiet 
a long time. (4)/ No error (5). 
 
Q.9​ In Jane Austen’s Little Women (1)/ is about manners, upbringing, education, (2)/ marriage and the 
(3)/ intricacies related to it. (4)/ No error (5) 
 
Directions for Q.10 to Q.15: ​Amrath and his four friends had their favourite authors have their 
favourite authors. Four of the five friends live near one another. 
 
One of these friends read Jacques Brien (JB) who writes Thriller, another read Nicholas Sparks (NS) 
who is a romantic novelist, another read Tom Clancy (TC) who writes action thrillers, while another 
reads Thomas Pibetty (TP) (Economics) and the fifth read Stephen Covey (SC) (Management) 
 

1. The one who read Jacques Brian lived next to Ajit 
2. Anamika lived next to the one who read Stephen Covey, who was not Ajit 
3. Alok, who did not read Tom Clancy, did not live near the one who read Jacques Brien 
4. The readers of  Nicholas Sparks and Jacques Brien (not Abhijeet) were neighbours 
5. Abhijeet did not read Thomas Pibetty or Tom Clancy 

 
Q.10 ​Who read Jacques Brien? 
 

1. Alok 
2. Amrath 
3. Ankur 
4. Abhijeet 

 

 



 

 
5. Anamika 

 
Q.11 ​Who lives next to Ankur? 
 

1. Ajit 
2. Amrath 
3. Alok 
4. Anamika 
5. No one 

 
Q. 12​ Who reads Tom clancy ? 
 

1. Anamika 
2. Amrath 
3. Ajit 
4. Ankur 
5. Abhijeet 

 
Q.13 ​Who read Stephen Covey? 
 

1. Ajit 
2. Ankur 
3. Abhijeet 
4. Alok 
5. No one 

 
Q. 14 ​Ajit reads which authors book? 
 

1. Tom Clancy 
2. Jacques Brien 
3. Nicholas Sparks 
4. Thomas Pibety 
5. Stephen Covey 

 
Q.15 ​Amrath reads which authors book? 

 
1. Stephen Covey 
2. Jacques Brien 
3. Nicholas Sparks 
4. Tom Clancy 
5. Thomas Pibety 

 

 



 

 
 
Directions for Q.16 to Q.20: ​Six friends A, B, C, D, E and F work in different companies namely 
Paragon, Rohynar, Quaritz, Sumeria, Mind Steal and Ulanor and each wears company-sponsoMaroon 
different colour Maroon vests, viz, Blue, Black, Black, White, Purple and Maroon though not in the 
same order. 
 
(i) The one wearing the Blue vest works in Sumeria and the one wearing a Black vest works in Paragon 
 
(ii) F does not work in Rohynar or Mind Steal 
 
(iii) A wears Black vest works in Quaritz 
 
(iv) D does not work in Mind Steal and purple colour Maroon vest is sponsoMaroon by Rohynar 
 
(v) E works in Ulanor and Neither D nor B works in Sumeria 
 
(vi) Moyra does not sponsor Purple or White colour Maroon vests and C works in Microsoft. 
 
 
Q. 16 ​The vest worn by B is of the colour: 

 
1. White 
2. Black 
3. Maroon 
4. Purple 
5. Black 

 
Q.17 ​Who is the Moyra employee ? 
 

1. A 
2. B 
3. C 
4. D 
5. E 

 
Q.18 ​Where does F work ? 
 

1. Ulanor 
2. Quaritz 
3. Paragon 
4. Sumeria 

 

 



 

 
5. None of these 

 
Q. 19 ​Who wears the Blue vest ? 

 
1. A 
2. F 
3. D 
4. B 
5. E 

 
Q.20 ​The Vest worn by A is of the colour: 
 

1. Black 
2. White 
3. Black 
4. Blue 
5. Purple 

 
Directions for Q.21 - Q.25: ​Read the following data and answer the question below: 
 
Q.21 ​There are two numbers such that the sum of twice the first and thrice the second is 29. While the 
sum of thrice the first and twice the second is 36. The larger of the two is? 
 

1. 7 
2. 9 
3. 10 
4. 12 
5. 5 

 
Q.22. ​Suman’s age is ⅙ of her father’s age. Suman’s father’s age will be twice of Raman’s age after 10 
years. If Raman’s 8th birthday was celebrated 2 years ago, then what is Suman’s present age? 

 
1. 10 years 
2. 12 years 
3. 15 years 
4. 6 ⅔ years 
5. 4 years 

 
 
 
 

 

 



 

 
Q. 23​ If 289 = 171/5 x  , then x = ? 

1. ⅖ 
2. 16 
3. 32 
4. 45 
5. None of these 

 
Q. 24​  Solve : 125 % of 3060 - 85% 0f X = 408 
 

1. 3940 
2. 3890 
3. 4020 
4. 4015 
5. 4009 

 
Q. 25​ Rohit and Sunit purchased a scooter for 25000/- and sold the same for 26250/- 
 If at the time of purchase Rohit paid 1 ½ times as much as Sunit , how much did Sunit receive out of 
profit? 
 

1. 400 
2. 500 
3. 600 
4. 700 
5. 765 

Answer Key 
 

Q. 1 - 3 Q. 2 - 4 Q. 3 - 1 Q. 4 - 3 Q. 5 - 5 

Q. 6 - 4 Q. 7 - 2 Q. 8 - 4 Q. 9 - 1 Q.10 - 2 

Q. 11 - 4 Q. 12 - 1 Q. 13 - 3 Q. 14 - 3 Q. 15 - 2 

Q. 16 - 4 Q .17 - 2 Q. 18 -  4 Q. 19 - 2 Q. 20 - 3  

Q. 21 - 2 Q. 22 - 4 Q. 23 - 5 Q. 24 - 3 Q. 25 - 2 

Solutions 
Solution 1: ​3​ ​The author is voices disapproval of the manner in which the genocide has been 
described as a mere ethnic cleansing. Hence option 3 is correct 
 

 

 



 

 
Solution 2: ​4​ ​All the options are suitable for the first blank but the second part shows that the 
intellectuals were forced to accept something opposite of their views because of contrary evidence. 
Hence option 4 is correct 
 
Solution 3: ​1​ ​The phrase ‘on the one hand’ shows that both factors are contrasting. The word in the 
first blank has to relate with the time of birth and hence congenital and genetic fit there The 2nd blank 
has to show the effect on the environment. Thus education is the better word. Thus option 1 is the 
correct answer. 
 
Solution 4: ​3​ ​Organs fit the first blank best because departments, institutions and tenets cannot control 
men's minds. Tradition also fits the second blank. Hence option 3 is correct 
 
Solution 5: ​5 The sentence is grammatically correct 
 
Solution 6: ​4 In the phrase ‘I like’, the antecedent for ‘I’ is kavita. So I like should be replaced with ‘she 
likes’. 
 
Solution 7: ​2 ‘At Trebizond’ will change to ‘in Trebizond’. This is because the preposition ‘at’ is used for 
a specific location while ‘in’ us used for a general place. 
 
Solution 8: ​4 ‘Quiet’ and ‘quite’ are two different words. In the present context ‘quite’ is requiMaroon 
which means rather. ‘Quiet’ means silent 
 
Solution 9: ​1 The preposition ‘in’ is not requiMaroon here as the subject “Jane Austen’s Little Women” 
is followed by  the linking verb ‘is’. 
 
Solution Q.10 - Q.15 
 

 Ajit Anamika Alok Abhijeet Amrath 

JB x x x x Yes 

NS Yes x x x x 

TC x Yes x x x 

TP x x Yes x x 

SC x x x Yes x 

 
 
Solution Q.10: ​2​ ​Amrath reads Jacques Brian 
 
 

 



 

 
Solution Q.11: ​4 Since Anamika lives next to the one who reads Stephen Cohen, she lives next to 
Abhijeet 
 
Solution Q.12: ​1 Anamika reads Tom Clancy 
 
Solution Q.13: ​3 Abhijeet reads Stephen Covey 
 
Solution Q.14: ​3 Ajit reads Nicholas Sparks books 
 
Solution Q.15: ​2 Amrath reads Jacques Brian books  
 
Solution Q.16 - Q.20: 
 

A B C D E F 

Black Maroon Black White Purple Blue 

Quaritz Moyra Paragon Rohynar Ulanor Summeria 

 
Hence the answers are: 
 
Q.16​: 4 
 
Q. 17​: 2 
 
Q. 18: ​4 
 
Q. 19:​ 2 
 
Q. 20:​ 3 
 
Solution 21:​ Let the numbers be X and Y 
Then, 2x + 3y = 39 ---i 
 
And  3x + 2y = 36 --- ii 
 
On solving the two equations we get x = 6 and y = 9 
 
Therefore, the larger number is 9. 
 
Solution Q. 22:​ Raman’s present age = 8 + 2 = 10 years 

 

 



 

 
Suman’s Father’s age = 2 (10 + 10) = 40 years 
Suman’s age = (⅙ x 40) i.e. 20/3  
Hence Suman’s age is 6 ⅔ . 
 
 
Solution Q.23: ​289 = 171/5x  
172 = 171/5x 
1/5x = 2 
X = 2 x 5  
= 10 
this 1/5x is the power of 17 
 
Solution 24:​ 125 % of 3060 - 85% 0f X = 408 
85% of x = (125/100 x 3060) - 408 
85/100 x = 3825 - 408 
17x/20 = 3417 
X = ([3417 x 20] / 17) 
X = 4020 
 
Solution 25:​ Ratio of profit = Ratio of investment = 3/2 : 1 = 3 : 2 
Profit = (26250 - 25000) = 1250 
Therefore, Suhit’s share = (⅖ x 1250) = 500 
 
 

 

 


